@3065-69Bmbols Lag@pgbo g9mgao

d@ogo
90335R@HGH(M 10X10X3

sedspnes A=I D=20

bodgbsgg @m©o

&
S
Ig
8°g
T g Vgoglol sOLgdymo admPbHom
&
S
8

N
2NN
N
NN\

NN
SANRNS
NN
SRNRNY
NN
N
NN
N
N

RN
N

A AN NN OO Y

S
7SS
LSS
S
LSS

/]
/|
g
////
/]
g
by
////////Z
g
/]
/]
g
/]
/]
/|
g
/]
/]
g

7/

N AMRRRRRRRRRRN
N AARRNRNS
O A NN

2.700
N
N

3.200
N
N

S S
S S
LSS S
1SS
S S S
S S S S
S

4.000

NN\
NN

N
N
AU AU NN U OO NN

AR RN RN AR RN
N
N

N
N

+———1.200
0.100
+——0.700
N
o
(2}
o
o
!
NN
NN\
NN
NN

0.100

@3065-09GHmbols bog@egbo jgegeo
d@ogo
B08335R@HB() 10X10X3

sanllagyg@s A=IIl D=20

Lo gbogy @moO@o

0.20

Fgogbol s@bgdnmo aG9bdom

0.20 1'0(920 0.20
0.20
o

0.20

.30

A
7S )
ARSI AIAIAD
AR AIAIAD
S SSSS
IS S
AR AIAIAD
AP AIAIAIAD
S SSSS
AR AIAIAD

7/
s

NN
N
N .

N

N
AN AU

2.700

3.200

AN NN N

AN ARRRNRNRNN
AMRRRRNRRRRRRNRSRRSRSSSS

4.000
N
N

O A A AU AR TN
N
N

AN RN NN R A NN

1.200
——0.700

0.100
0.100

0.100

>

@306 dIBMB0L LSIAHKRIBO 3IROL 3MVIMBOL dIdS

A3065-093mbols Loghpgbo ggogao
bge bywo

> gog@o y®9bHo

\\\\\\\\\\\\\\\\‘{\\\\\\\\\\\\\\\\\\\\\\\\{\\\\\\\\\\\&\\\\\\\\\\\\\\\\

V¥ 33000 bywo

+—-0.600———0.900—
1.600

0.100

24.000

{obbgwo A

43065-39%mMbols Lag@egbo ggegaol galiswo

0.20

00—+

1

0.20
0.

0.20

‘(]30(3‘\ b@gdmgsbo dognodo 10 13

——1.500——

—1.600——

BOSLBILESG( 10X 10X3 {ob bgwo
seda@gde A=IIl D=20
o
S
N
® o
8 8
o 3
K o o) o) o)
o
S
N~
o
o To
818
« 0 ) O O
Logdigbogy dogo J303s bdgdmgobo dsgnodo
24.000
05653 gdmds 335@0 bIRVIGS
ROAHIISGHM@0: Q. 09IRS5JI
OOINSIISM@A0: 6. BI35II
3(M330IBHIGIN0 5®5B03S:[b. RMbSII 2 oot
00. RIDHO 3I@dSII

BHMIIAOL LObIRV)RIBS: FISbIBOL
0I60G035R0BGIBOL LEIBIKRO 63600 LOXSHML L3)IROL
S3A(MIIS) LdMISSOROBSSGOM KR(M3IFI6ESG0S

R5333IM0: SESOOL dS6SMRISOL FIRGIAHOLS KRS
L3MAHGOL 55306OLEA)

F0LSFSM0)0: FISHIZOL FIENGO3SROBIBOL L) BIRO
63605

BAGCRId0: ] [ BIOGIR0: ]

0)>G0%0: \ [ 95La®580: |




31 -14 Alll,
4-200

bodo® ggeol s@dodgods

LOd0@3BROL 5@INAIBOL 0Jd3S A3065-6IBHMHOL LOIHRIBN 3IRLROLSMZ0

1.600

32 -14 Alll,
6-200

24.000
30bLEOYJEogmo oo
b9H™bols badxo (91:50)

bado gggmmo: 240X1.6X0.7X=269X1015=27.10 &

Jaogmo:  240X(3.0X(030+0.60)2)=324X 1015=32.9 &

390™Mbols bodyo: 60 &

boydegh 3ggmby @obmmols gbagdols @306539B™bols Logdrgbo ggogmols
A0Fgmdols 13gE0g045300 sedoBg@ol o dgBmbol badyo
Gom©hmde —
c = ® {mbs
@ommbols Jogn jgop@ado 10X10X3| 32.5 3Ad.d S s
3 ¥ £ o (g)
sdadynms A=l D=20 120 3@dd | 296. gy S &
2 ®©
- C
P9b60Tgbs: Jmbegl JnbsFymoo -
o 33o0M5( 900l bgdgagdols go39mgds,
@mdgen oz aoogmol dnlsfymoo
>GIo@®s, Jgdwgmd Jnbogl dgegogdomo ©-14 A-lll 1023 2207
}5031’12-»mn;ﬂbs*&qmmgﬂh :15;\"3315363?’"1* ©-8 A-l 1278 511
929035 dobral sbHhogmOmbogmo
Lo@gdagol 2 ggbs ©-10 A-li 816 506
V ¥185) =60 &

3096G0L ©sdydoggds Logdwgbo
Jge@ol dnbsfymdsp 65 &

Lo®gbogy omd@ol dofymds 278

1-1

B0 335R@HHB() 10X10X3

sadoggee A=Ill D=20

3mboios 1

(@ 1:50)
Zo 31 (L=4640)
8d 1560 ©-8 Al , 3-200
S
N TS I
31 ©-10 A-lll 2 3 ©-8 Al S
doxo 2000 S L doyo 600 8
3 = Cf 0,100
(=3
21
3 14 Al
5050201 ii
3mboios 2 3mbogos 3
o
g (@ 1:0) (1)
o)
3 o (3 1:50)
% I “ 9% [
0 I}
o o —0.610—
32 14 Al & ® 0.100 0.100
Boo 200 A s ——0.410——
200 3 } J
N8 Al | 31 14 A =
doxco 200 Fao%o 200 e
o 31 -8 05653 gdmds 33500 bILVIOS
S I 2oy0 QOHIIHO@0: @ 080250
o SAHINGIISHM@0): 6. 8I3599
l 3(M330IBHIGIN0 5®5B03S:[b. RMbSII 7 it
00. RIDHO 3I@dSII

1

Jaods begdmgsbo dsgodo

1.600

BHMIIAOL LObIRV)RIBS: FISbIBOL
0I60G035R0BGIBOL LEIBIKRO 63600 LOXSHML L3)IROL
S3A(MIAIS) LdGISSOROSSGOM KR(M3IFI6ESG0S

R5333IM0: SESOOL dS6SMRISOL FIRGIAHOLS KRS
L3MAHGOL 55306OLEA)

F0LSFSM0)0: FISHIZOL FIENGO3SROBIBOL L) BIRO
63605

BIGCL0: | [ Ba6GIR0: |
0)5G0R0: \ [ 9500®000: |




